1. Henry T. Colebrooke was a Professor of
Sanskrit in which one of the [allowing

N

institutions?

fiea)

()]

fc)

()

Fort William College
Serampore Mission
Kashi Vidvapith

Asiatic Socicty

2. The Deccan Agriculturalists’ Relief Act of

187

9 was enacted with which one of the

following objectives?

fa)

(b

fcl

Restore lands to the dispossessed
peasants

Ensure financial assistance to
peasants during social and
religious occasions

Restrict the sale of land for
indebtedness to outsiders

(d) Give legal aid to insolvent peasants

3. The Damin-i-Koh was created by the

British Government to settle which one
of the following communities?

fa) Santals

fb) Mundas

L, which was passcd .'h!,r
1859, addressed which

of the following issues?

tHian
&, The Limita
the British in

one
fa) Loan ponds would not have any
ﬂ a
legal validity.
:omed between money-
il Imnaiﬂdmg;yuts would have

lender

validity only for three years.

(c) Land bonds could not be executed
c

by maneylenders.

fd) Loan bonds would have validity for

ten years.

the following was Known

8. Wi » Revolt of 1857 as

during the days of the
Danka Shah’
{a) Shah Mal
(b) Maulavi Ahmadullah Shah
{e) Nana Sahib
(d} Tantia Tope
6. The Summary Settlement of 1856 was

based on which one of the following
assumptions?

(a) The Talukdars were the rightful
owners of the land.

(b) The Talukdars were interlopers with
no permanent stakes in the land.

fe) The Talukdars could evict the
peasants from the lands.

(d) The Talukdars would take a portion

of the revenue which flowed to the
State,

[ P.T.O.
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i
25. When some goods or productive factors

.L are cﬂmplﬂtﬂlr}" fixed in amount,
. regardless of price, the supply curve is

.r'ﬂ., horizontal
(b) dewnward sloping to the right
(c) vertical

(d) upward sloping to the right

26. Who designed the Bombay Secretariat
in the 1870s?

fa) H. St. Clair Wilkins
(b) Sir Cowasjee Jehangir Readymoney

fc¢) Purushottamdas Thakurdas

(d] Nusserwanji Tata

27. Who was the founder of Mahakali

Pathshala in Calcutta?

fa) Her Holiness Mataji Maharani

Tapaswini
(b) Sister Nivedita
(¢ Madame Blavatsky

(d) Sarojini Naidu

DFGT-S-HTG/52A

11

that
e . rid ... he
India is the commerce of th:m w; s
who can exclusively comm
dictator of Europe”?

(c) Napoleon Bonaparte
(d) Gustav Il Adolf

: an traveller had observed,
29. Which Europe e anywhere

sp Hindu woman
alone, even in the most crowded plfu:es,
and she need Never fear the impertinent

looks and jokes of idle loungers™?
(a) Francois Bernier

(b} Jean-Baptiste Tavernier

(c) Thomas Roe

(d) Abbe J. A. Dubois

30. Who was the author of the book, Plagues
and Peoples?

fa) W. L. Thomas
(b) Rachel Carson
(¢} David Cannadine

(d) William H. McNeill

[ ]:“ 11 -!,

i
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31.

Which Indian social theorist had el
BrEL

that the

idea

Hinduism wm of a homogenized
8 constructed th

the ‘cultural 1 through

ﬂ-rrﬂEE'n e

enlightenment Ky rope”? o

post-

;ﬂ,‘ Ashis Nand},

(b) Partha Chatterjee

fef T. K. Qommen

fd) Rajni Kothari
332, ‘Sub-prime corisis’ j
15 8 term i
with which one of i WSHGOATE
of the following events?
fa) Economic recession
{h) Political instability
- .
fe) Structural adjustment programmes
fd) Growing social inequality
33. Which one of the following 15 not a
change brought about by the Indian
Independence Act of 19477
fa) The Government of India Act, 1935
was amended to provide an interim
Constitution.
(b) India ceased to be a dependency.
(¢ The Crown was the source of
authority till new Constitution Was
framed.
(d} The Governor-General was the
constitutional head of [ndian

Dominion.

DFGT-S-HTG /52A

— .T’

13

34, Which one of
correct
provision af Le

stn tement

Siate Legisintu re?

fa)

fc}

fd)

35, Whic
abo

s of Bihar and Telangan®

The State ;
Eaum:'.l'ln.

have Legalative
of members in
a Stalc
the
the

umber
i council of
shall not nnﬂuﬂ’li.ﬂ:l of
potal numbet of members in
Legislative Assembly-

One-twelfth af all members ghgll hﬂf
elected DY electorales l:q:n.n:mh_ng o
local bodies and authonnes.

One-twelfth of all members shgll be
slected by graduates residing in the

State.

h one of the following 18 not correct
ut the Panchayats as laid down in

part IX of the Consttution of India?

fal

(b)

(c)

()

The Chairperson of a Panchayat
needs to be directly elected by
people in order to exercise the right
to vote in the Panchayat meetings.
The State Legislature has the
right to decide whether or not
offices of the Chairpersons the
Panchayats arc reserved for SCs,

STs Or WOIMETL

in

earlier, every

a penod

Unless dissolved
Panchayat continues for
of five years.

The State Legislature may by
law make provisions for audit of
accounts of the Panchayats.

| P.T.O
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36. Wh ch
annmu:;'. fr_f the following is not correct
ministrative Tribunals?

fa} The Parliament may by |
consttute pi B y e
A :]L ""'ldl'l'lllnl:alr'ali'b"r.‘ Tribunals
e Union and State levels.

fib) Tribun
e E:: m'.='|_'|r' look into dispuies
s plaints with respect o0
nent  and  conditions  of

. :ni‘:E n!' pers
UTIE 1 i |
.F | ' appoin - (i }
]] - SCI "'i':.-l._”.::. - t

fc) Trnbunals established by a law of
'.[hf.' Parliament can E'l::clud:'“tf:
_|lL11‘1.~idtf.'iiun of all Cnur-[s tn:u- 11 E'
lor special leave to appeal -

(d) The law establishing the Tribunals
may .}'.I'I'I;_'I".'tdF' for procedurcs
including rules of evidence to be

followed.

7. A market sitypation when ma

gsimilar but not identical products

termed as
pet ition

() perfect com

(b} imperfect competition

c com pvtiLiun

(c) monopolisti

(d) oligopoly

~7-S-HTG/52A

39. Which on

nv firms sell
18

40. According 10 John

Consider the following
1 mflation 11 India cnnhnu-:d to be
moderale during 2017-18.
i duction in
: are was sigml'lf:mﬂ re
ol articularty pulses

(ood infiation: P
and vegetables au

e statemen ts B

ring the Pr riod.

ven above

(b} 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

caLs

llowing DY poth
fion

ndiﬁdual‘s consump
pﬂﬂﬂd dl:'pf'.l‘]ds upon
o the individual,

apital and age of

s of the fo

pﬂam!at:s that i

in any tme
rCces available I

resou
his C

rate of returm on
the individual?

(@) Absolute [ncome Hypothesis

(b) Relative Income Hypothesis
[e) Life Cycle H}.-'pﬂthftsiﬁ

(d) Permanent lncome Hypothesis

Maynard Keynes,
employment depends upon

(a) aggregate demand

(b) ageregate supply

(c) effective demand

(d) rate of interest



1. Whi
“ hich one of the following canons of

taxation was
Smith? not advocated by Adam

fal Canon of equality
(b) Canon of certainty
fce) Canon of convenience
fd) Canon of fiscal adeguacy
42, Whic
hich Arab scientist could be given the

c 1 i
d]TE'EI.H .L:f christening the mathematical
iscipline of algorithm?

fal] Al-Khwarizmi
(b) 1bn al-Haytham
fc) Tbn Rushd

Ihn Sina

(d)

43. Which one of the following developments
took place because of the Kansas-
Nebraska Act of 18542

fa) The Missouri Compromise Was

repealed and people of Kansas and
allowed to

Nebraska were
determine whether they should
own slaves or not.

(h) The Act did mnot permit the
territories the right to vote over the

question of slavery.

fcj The voice of the majority 10 regard
nuzzled.

to the issue of slavery was|
| the

Federal GDH':‘.FHIT:I‘:H hat

(ci} The
sole gquthorty 10 decide on glavery.
DFGT——&-HTG;‘EE&

of the following jasucs Was
the ln:iﬂ-UEr Muclear

B, Which ont
jnoluded

agreement of 20077

gdvance right '

has
U E*ﬂﬂﬂiﬂ mfng'llﬂfdﬁd

fa) India
r:p;'m:l! 58

spent fuel.

4 not have the right

with

(b) India i
gic fuel rescrve

a strate ;
ol the ogther suppheT

(c) India should not test B8 puclear
device.

(d} The us will impede the growth
of India’s nuclear weapons
prngrﬂrﬂme.

g aboul

12 statement

Ayyar, as

45. Which of the followir
I{ﬁﬁhnaswami
ion of

B

Alladi .

drafting member of the Constitutl

India, ATE correct?

1. He favoured the role of the
Supreme Court in taking

s related 1o the

important decision
Constitution of

interpretation of the
India.

2. He felt that the Suprem
to draw the line petween liberty

social control

e Court had

and

3. He believed in the dominance of the
executive OVET the judiciary.

4. He favoured & dictatorial form ol

governance.

.
the code

Select the correct answer USIing
given below.

(@) 1 and 2 only
(b) 1,2 and 3
() 3 and 4

(d 1,2 and4

17 | RIS




47. The South China Sea

46. Which of the following are the core

functions of the United Nations
multidimensional peacekeeping
operations?

1. Stabilization
Z. Peace consolidation

3. To extend support to a losing Stale
in a war

Select the correct answer using the code
given below.

fa) 1, 2 and 3
fej 1 and 3 only

fd] 1 and 2 only

Dispute involves
which of the following countries?

1. China

2. Viemmam

5. Malaysia

4. Indonesia
Select the correct answer using the code

given below.

fa) 1 and 4
(b) 1 and 2 only
(c 1. 2 and 3

(d) 2 3 and 4

ol' in AN I.'rl'll:rrl.l-t'u:lﬂl]

pie g o 50 rfinm;mm Sinte parties 1o

(b) Rights of women

(c) Right W0 development

(d) Reduction of tarifis

lates o which one

s0. The ‘Gujral Doctrine’ 7€
of the following jssues?

fa) Build trust between India and 115

neighbours

(b) Initiate dialogue with all msul

groups in India

fc) Undertake development
in Na:-ta'l-dmmnmcih areas

() Ensure food securniy

| P e




§1. Match List-l with List-11 and select the

EorTect ANsSwWer L
L ETY 1‘1 5 ;
below the Lists : g the code ghven

List-N

'!IL‘U”IF"“”H! ' Molecule) (Shape of Mol le)
L LR

A. CH4F 1. Trigonal planal

B. HCHO 2. Tetrahedral

C. HCN 3. Trigonal pyra midal
D. NH, 4_ Linear

Code

fa) A B C D
3

ad
IS
il

| hl [ B & D

. 1 4 2
fc) A B e D
4 4 | 3
(dl A B L. D
n | _l| ‘_.l

652. Very E-'-:'II::I.I.'. |:'|.==-“-]LJI.|.
may DE ﬁr-_n.r.';u-r.!. from it DY using

fa) 'Z"‘I':r"_--l'r:l.l.l.":..i':..::"lll.'l'l.

(h) ral tional distillation

1010

(c) L‘f‘:lt‘.'ﬂ'ug:ﬂ

(c) dﬂmniuuun

DFGT-5- HTG/52A

e partit les in & liguid

e following glements
"L.n:ﬂng:m'-

B83. Wwhich one ol
cannot dnmctnd

test™ "
fa) |
) €
fe} S
fd) ¥

{ollowing funchion al

54. In which of the y
is not puﬂmt-'l::.*

group isgmerism
(a) Alcohols

(b) Aldehydes
fcl Alkyl halides
(d) Cyamdes

g5, Which on€ of the following statements 15

not corTeC £7

(a) Fischer represenis

ithe mme-.r;.u'lr: in an

prnjEt:Lmn

l"'L..II;|'|'|-\_|"al'_l'| :u
cnniunnm'mn

(b) Newman projection ° an

e pm-.sﬂntr!d in eclipsed, aggeTed

and skew cOI Jformatons

[c) Fischer I,':rcajﬂ_"nnu of the mv
18 18 mosl siable l'l;'l'l'.!'.""|!"!'..|.|..'

ll'“ In 5'-.1“."[!.111'-.:.4:- ||_1rk\§,rg-15.1-_1:._ e

Are !I‘u"mu'i’l at AN angle ©

each other



§6. The monomer/monomers uscd ior e
¥

f IMETE th

d { "

synthesis of Nylon 6 isfarc

fea)
acid

fb) ecaprolactam

fe) wurea and formaldehyde

(d) phenol and formaldehyde

57, Which one

nearest to the earthy
fa) Sinus

(b) Arcturus

fc) Spica

fd) Proxima Centaurl

g, Which of the following planets
solar systell has leasl Mmassr

fex) |y L= pt une
(b) Jupiter
fc) Mars

(d) Mercury

DFGT-‘S—»HTGI 52A

hexa ]
methylenediamine and adipc

among the following SLars i%

23

59. Two identical solid pieces, one of gold
gilver, when immtra:d

completely in water exhibit l:l:qup!.‘l

. weighed 1P air
[given that density of gold 5 greater

fa) the gold piece will weigh more
(b) the gilver PIEce will weigh more

fc) Tboth gilver and gold pieces weigh
Equa'j

(d) weighing will depend ©on their
MASSes

60. I the wavelengths mrﬂ:ﬂ.pﬂnding to
ultraviolet, visible and infrared
radiations are given as Ay s
and Mg r:spcclwely. then which one
of the following BIves the correct

relationship among these wavelengths?
fa) by < hr < s
B) Mgy >Mis > AR
fel Auv” Mg 2 Avis

(d) hyy <Awis © AR

| P.T.0



ﬁlq- AT d"—"ctrﬂ
n

rest get a.—_-&“d B proton starti

differen celerated through oy
L f

the l:l-:l_‘.'T:' of 100 kV. The ﬁ:‘ Rotentisl
on and the prot al speeds of
respectively. on are V, and

Vv
P
followin 1.  Which
& relations is EQTI‘:::]: of the

fa) Ve >V, Bt
fb) Vg < 1""I;rl
'rc 7R F

) V=V,
r-dJ CELTH'IL‘H h:- dEtE]’minrd

2. If two vectors A and B
angle 8 = U, then N

@ |Al+|Bl=|A+B
(B) |‘_'\'|_]_l_:-“|"-=|_.-'31-.-3|
IIIEJ II‘_Iﬂ"'Il:_llﬁlir:'lﬁp H-'I

@) |Al+|Bi=1A-B

of the following tissues I8

5. Which one
for increast of girth in the

responsible
atem ol 8 plant?
[a) Tracheid
{b) pericycle
(e} Intercalary meristerm
(d) Lateral meristem
&6. Which one of the followingé grganisms 18
dependent OR Eﬂ.pfﬂ'ph‘_lp'tif mode of
nutridon?

fa) Agaricus

(b} UMothrx

Ricoia

e
() Cladophord

the following has

: 67. Which one of
63. Which nn.ﬂ af the following funchons is gymmetry in its body urgﬂnizatiﬂn?
not carried out by <mooth endoplasmic
reticulum? 1) Asterias
fa) Transporl of materials (b) Sea anemone
(b} Synthesis of hipid (c) Nereis
fel Synthesis of protein d) Echi
inus
(cl) 5}“1‘[[11:&115 of steroid hormone
: 68. Which one of the follow rs
: it l s o epll OTER elles ing pairs
64, Which one of the following ¢ ell organet=s ek ¥ :
mainly functions as gtorehouse ol nimals is WarT blooded?
dig:‘:E[h‘t_‘ -::I‘a.e'-j-'TW-‘E“:J (al Crocodile and Ostrich
(al 1_}1:::111-:3-5n|1‘-f.' (b} Hagfish and Dogfish
hosoIne ; :
(b) RiDO= e Tortoise and Ost rich
fc) L."-,-'E-H}‘.:i-ﬂl'llf
- () Peacock and Camel

(d) vacuoles

a ht'lateral

I]:ﬁ'[ |




69. which one of the foll
 tollowing State
s of India

overed by Flood For
ecasiing

Stations
.EI.I:': up by the C
Commission? entral Water

fa) Rajasthan

(b) Jammu and Kashmir
c) Tripura

fd) Himachal Pradesh

a3 1

fa) Colombia
(b) Venczuela
fc) Brazil

(d) Guyana

lTl—- “hl{:‘tl one ATNMOTIE lht‘ ‘_|-|:|:J'l_r_:.':g,.:-i-|-|_¢i|\I i ﬂ:':!:

most populated State in India as
Census 20117

per
(@) Goa
(b) Mizoram

fe) M eghalaya

fd) Sikkim

72, Which among the following countries of

South America does the Tropic of

Capricortl not pass throught
(a) Chile

fb) Bolivia

fc] pParaguay

(d) Brazil

DFET-E-*HTE'-.-‘HJ"-

73, Which ane of the fol

75, Which one of th

about Sargasst Sea?

fa) 1t is characte wi
l:irculum‘.nn of pCean

) It cecords the il

(e) It 18 locat

correct answer using
below the Lists -

List-1 List-1I
(City) rFTDd'uc:t}
A. Detroit 1. Motorcar
B, Antwerp 2 piamond cutting
c. Tokyo 3, Steel
p. Harbin 4 Shipbuilding
Code :
fa) A B - D
3 4 2 1
(b} A B € DU
3 2 4 1
o A B L D
1 4 2 3
W K B8 D
1 2 4 3

s [ ] 2 |
on v aranasi-Kanyakumar
Highway?

fa) Satna
(b) Rewa
f¢) Katni

d) J abalpur

jowing 18 not correct

ghﬁﬂt salinity '

e following is not gituated

National



76. Which one of the following methods is

T7.

not guitable for
hﬂr'-'r_'r-ting?

u .
rhan rainwater

fa) Rooftop recharge pit
{b) Recharge wells
fc) Gully plug

{d) Recharge trench

if one plots the tank irrigation in Indi
and supenmposes it “with man IH{
well irmigation, one may find 1]1;:: 1:1:r
two are negatively related. Which :f
the following statements ne-.up'lmr.t the
phﬂnnmenun?

1. Tank irrigation
irrigation.

predates  well

2  Tank rmgation 18 in the areas with
impervious surface layers.

3. Well irrigation requircs sufficient
groundwater reserves.

4 Other forms ol irrigation are nol
available.

gelect the correct answer using the code

given below.

@ 1, 2and?

(p) 2 and 3 only

e} 2 and 4

(d 1 and 4

ced into anl emply

ater is pla
n hot water i= P :
Jehe 5 its shape

- le, thE pottle KEEES
e, what WPE ol

gOllCT ! 5
made {roms¢

aT hottle

(b) PVC
fc) Poly yrethant

(d) Thg;—musetting

DFGT-E—HTGIEH

T9. Which of the follo

wing Is/are state

fu nctjun,uf{uncﬁnns?
1. g+w

2. q

3, w

g, H= TS

gelect the correct an gwer using the code

given below.

fa) 1 and 4 only
(b) 1, 2 and 4
fc) 2. 3 and 4

(d) 1 anly

g0, Fora certain reaction, AG” = 45 kJ/mol

and AH® =-90 kJ/mol at p °C. What 18
the minimum temperature at which
the reaction will become spontanecus,
agsuming that AH® and AS? are
independent of tnmperamn:?

(@) 273 K
(b) 298 K
(c) 546 K
(d) 596 K
g1, The PClg molecule has trigonal

hip}'mmidal structure. Therefore, the
hybridization of p orbitals should be

(b) .'-;p'J
(c) d:ép""

(d) dsp®

| P.T.O.



w is valid for

gz, n gpherical polar coordj
:oordinate

E:;—n:‘ltt?j the polar angle ar:uh& 8, a), 85. The Hmktf’ n
a enotes the . nd z-axis
raised  from x_axi:zimmhm angle (@) only pmpnrtmnn‘l region of the

y-component of P is E.'iu"-':n : Hen: i stress-strain curve

v
fa) Psinfsina (b} entire qtresa-strail curve
{E, cnﬂrn Elﬂﬂﬁﬂ rﬂgiﬂﬂ of the gircas-

strain curve

(b} PsinBcosa
stic TEEION of

as well a8 pla

(d) slastic
strain CUrve

() FPrcos Baina
the stress-

g6. Which one of the following statements
regarding histone proteins ig correct?

g3. For an ideal gas, which one of th
c
prutﬂiﬂﬂ that

fﬂllﬂw‘iﬂ sta
true? r tements does not hold
(a) Histones are
are present in rnitul:h::mdrla.l
membrane.

ja) The speed of al
same. all gas molecules is
: ) p) Histones are roteins that are
(b} The kinetic ¢ - 'r P
ic energies of all gas present in nucleus in association
with DNA.

molecules are not same
ated

(c) Histones are proteins assocl

The potential energy of the gas
molecules 18 : i ipids 1
1§ ZETO. with lipids 1D the cytosol.

fc)
sine As sociated

(d) Histones are prot
the cytosol.

no interactuve force
with carbohydrates in

(d) There is
ecules.

between the mol

a7. Which one€ of the following statements

g4. What is a -::cmstnﬂau-rm?
regarding haemoglobin 1 2
(a) M parti ular pattern of equidistant ' & is COTTECL:
gtars from the earth i1 the sky (a) Haemoglobin present in RBC can
carry only OXYgE
) A partv qlar pattern © stars that dioxide. ygen but not carbon
may not be -sqni.-:i:s-stam: from the
Ea_'l'lh 1n the sky (b) HHEmUEJU‘hiH of RBC can carTy both
- _4ooatg Of oXygen and carbon dioxide.
(c) A partlcu!ElT pattert of P
our golar gysiern in the s (c) Haemoglobin of RBC can carty only
_ carbon dioxde. '
(d A particuier patterm of l st :I-: o
e 8 . ; .
ots " d tﬂ””{- T 1€ ! &Emﬂgj.ﬂblii s only used fi hlood
' a - | "
eir jtion 1M e spat clotting and not for cartying gases

| P.T.Q



Which :
88. Ec::'u‘:::: ﬂértht fn]lnw'l-ng ia the correct 91 Which one of the following may be the
passage of light hm.amﬂ.iﬂﬁﬂ of cyclones?
compound microscope? in a true €

c}rclnnﬂ! move from

rate
) TEREEE with ~westerlies

fa) Condenser—Objective west to east

piece—Body tube ]E“E_E?'re' whereas Uﬂpiﬂﬂ] r_'::fl:].{l-ﬁl.":ﬂ follow
trade winds.
b} Objectiv :
g T.ul;]:r—hé:r _1En5 —Condenser—Body (b} The front side of cyclone 18 known
Yepiece ¥ ¥+ the ‘eye of E!,F[:].ﬂﬂﬂ-‘-
fe) Condenser—Ohjecti ss @ centre of high
lective , (c) Cyclones posSst
tube—Eyepiece EsRtdy pressure surrounded by closed
isobars.
d] Eyepiece— ; .
fel) t:beff‘}:-:' Objective lens—Body (d] Hurricanes are well-known trup1§a1
ey cyclones which develop gver mid-
latitudes.
. Which one ,-
89 cﬂrrEEE:: of the following statements is 2. The Headquarters of the international
Tropical Timber Organization is located
fﬂjl Urea is pmduced in liver. at
fa) New Delhi

(b) Urea is produced in bl
in blood. ib) Yokohama
fe) Urea is produced from digestion of foft a=a

starch.
(d) Jakarta

(d) Urea is produced in Iung and
kidney. 93. Atmospheric conditions are well-governed

by humidity. Which one among the
following may best define humidity?

90. Which one of the following river valleys 1
f India | under the influence of (@) Form of suspended "-'Tater droplets
gpscia caused by condensation

intensive gully erosion?

(@) Kosi () Almost microscopically small drops
of water condensed {rom and
(b) Chamhal suspended in air
(d) The moisture content of the
fc,l Damndaf atmosphere at a p;n-r.'.-n'.'lm time
and place

(d) Brahmaputré

33 | P T.0
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H‘ Tl‘.l-!-' slhl.'lmpgnﬂ n-r'E t
group of he vulnerahle

fa) Jharkhand

(b} ©Odisha

fc.ll. West H.ﬂ:nga.l

(d}

Andaman and Nicobar Islands

India?
Silvassa

(aj

(b} Jorhat

Itanagar

=

(d) Kavarath

tribml

. h 1 : ; W *8 was not
1m [']_ild Ed 11 lhf" 11"31 Ell SImmAart E"It'l .
1 = r ) ES In

g6. Find the correct arrangement of
the following yrban agglomerations
n descending order as per
their population SiZ€ according 10

Census 2011.

ata—~Chenigl

fa) Delhi-M ymbai-Kolk

1kata- Chennal

(b) Mumbai—DﬁIhi—mn

{hi-Chennai

fc) Mumhai—}(c}mata--ljr

‘rai.—M lehm-] yelhi

(d) Kolkata—C hent

DFGT-S-HTG/ 52A
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Lint=11 and select the

97. Match List-1 with |
ing the code given

carrect answer us
below the Lists ©
List-II

List={
;Emmple;

(Type of Lake)
Lonar Lake

A. Tectonic
B. Crater 2. Gangabal Lake
c. Glacial 3. Purhasthali Lake
D. Fluvial 4q. Ehimtﬂi Lake
Code :
@) A B C D
- 1 2 3
(b) A B C D
= . 1 3
fe] A B [, D
3 1 2 4
(d) A B ; D
3 2 1 4

g8. The Andaman group of islands and the
Nicobar group of islands are separated
by which one ol the following latitudes?

fa) 8&° N latitude
(b]
(e}

(d)

10° N latitude
12* N latitude

13" N latitude

g9. Damanganga Reservoir Project with

about 115 km of minoi canals and

distributanes 1s located 1n

fa) NCT

(b) Dadra and Nagar Haveh

() Puducherry

(d) Goa
- .
/J r { — 5 — el 4 I
- _J | = J | ;’lr . [:J o)



100. Consider the

relating to Coal India Limiteq .
. 1. It is designateqg as .

_ 8 'Maha Ratna’

company under the Ministry of

Coal. e

{i a
ollowing statements

'E' It jﬂ- 1h|=_' Ejngll‘.

Limited is
Jharkhand.

of Coal Iridia
located at Ranchi,

Which of the statements gy

| &n above
is/are correct?

' fa)] 1 only
fcf 2 and 3 only

fd 1, 2 and 3

101. Afro-Asian solidarity as a central element
of India's foreign policy was initiated by
which of the following Prime Ministers?

fa) Narendra Modi
fb) 1. K. Gujral
f¢) J. L. Nehru

(d] Manmohan Singh

102. The Prime Minister's National Relief Fund
is operated by which one of the following

bodies?

fa) The Prime Minister's Office (PMO)

fb) The National Disaster Management

Authority

e/ The Ministry of Finance
(d] The National l}eveiupmr:n! Counci

(NDC)

I a7
DFGT-S-HTG/52A
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103. Which one of th

e following statements
India's surgical strike

i d to :
proiniipi oo Pakistan Occupied

mission inside
Kashmir 18 correct?
fa) Itwas conducted in the yecar 2018,

(b) 1t was led by the Indian Air Force.

(c) It was not given any name.

id) 1t was sanctioned by the United

Mations.

_ Which one of the following statements

about the National Green Tribunal is
not correct?

fa) It was set up in the year 2010.
(b) It is involved in effective and

expeditious disposal of cases
relating Lo snvironmental

protection and conservation of
forests.

{e) It may consider giving reliel and
compensation for damages 10
persons and property.

{(d} It is bound by the procedures laid
down under the Code of Civl
Procedure, 1908.

. Which one of the following statements

about the provisions of the Constitution
of India with regard to the State of
Jammu and Kashmir is not correct?

fa) The Directive Principles of State
Policy do not apply,

(b) Article 35A gives some special rights
to the permanent residents of the
State with regard to employment,
settlement and property.

(c) Article 19(1){f) has been omitted.

()] Article 368 is not Hi’_}phrﬁh]c lor
the amendment of Constitution of

the State.




108. Which politician in British

o3|

b £

21, dur

Eg . urng I"";-"I'I.11_']-|
following tours, Gandh one of the
head and began we, i)l
grder to identify with

106 In
the Poor?
fa) Ahmadabad
(b Champaran

(el Chauri Chaura

(d) South India

j07. Simla was founded as a hill stayigy,
110 use

as strategic place for hbijey
guarding frontier i

d and
campaign dur

h'-lg. I:.I.-:Il."'II course of

fa) Anglo-Maratha War
fe} Anglo-Gurkha War

(d) Anglo-Aighan War

India

I'D”l'::lut]‘l mn

ng troops,
1 .
launching

had

opposed to a Pakistan that would mean

“Muslim Raj here and Hindu

elsewhere™”

fa) Khan Abdul Ghaffar Khan
(b) Sikandar Hayvat Khan

1 Kalam Azad

fc) Maulana Abu

(d} Rafi Ahmed Kidwal

PGT-S-HTG/52A
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109. Match Lis

Sarvepalli Gopal 2.

t— with List-11 and select the

correct answer using the code gven

below the Lisls

List—{ List-II

(Author) (Book)
Sekhar ; 18 Jﬂtuuharim‘ Nehru
Bandyopadhyay A Biographt, Val-1,

] 889 1947

From Flassey o
Partition : A History
of Moderm India

The Ascendancy of

_ David Hardiman 3.
the Congress Wt
Uttar Pradesh.
1926-1934
., Gyanendra 4. Gandhi in His Time
Pandey and Ours
Code
fal A B C D
2 4 1 3
) A B € D
2 1 4 3
fc) A B C D
3 1 4 2
(d) A B C D
3 1 \ 2

110. Eight States have achieved more than

99% household electrification prior to
the launch of Scheme’
Which one of the following 15 not among
them?

‘Saubhagya

(a] Kerala
fb) Punjab
(c) Himachal Pradesh

(d) Madhya Pradesh

| P.T.O



13 member to the Umt:-,,-]“ﬂa elected as &

rights Couneil for , Nations Human
.I'-l'-'f five vears

fL'JI four Years

rg;'j three vears

fd) two years

13, Consider the fu]!n'-'.'h;ﬂ

about the Bureay

India (BPPI) :

3::“]1{-_ i y
r=-|' :JI- menis
HETrma PSUs of

. It is the implementing agency of
Pradhan Mantr .I:Hl:-:-‘j1 v
S ]
Janaushadhi Parivojana (PMBJP

2. It has been registered as an
independent society under the
Societhies Kegistratbion Act, 1860

Which of the statements given above
is/are correct?

fa) 1 only

fb) 2 only

{¢) Both 1 and 2

{d) Neither 1 nor 2

[52A

113. Consider the foll

gwing statements ahout

a scheme jaunched by the Government

of India :
it was launched 1o provide soctal security

during old age and o protect elderly
persons aged 60 years and aboue
against a future fall in their interest
income due [0 yncertair market
ronditions, The scheme enables old age
income security for senjor CilLiZEns
throtugh provision of assured pension/
return linked to the subseription amournl
based on governmefil guarantee 1o Life
nsurance Corporafion of India (LICI}.

Identify the scheme.

fa) Pradhan Mantri
guraksha Yojana

() Pradhan Mantn Vaya WVandana

Swasthya

Yojana
fc) Liveahbility Index Programme

(d] Rashtriya Vayoshn Yojana

114. Who among the following won India’s

first ever gold medal n the

International Youth Olympic Games
(2018) held in Argentina?

fa) Neeraj Chopra
(b} Praveen Chitravel
fe) Jeremy Lalrinnunga

) Suraj Panwar

115. E. K. Janaki Ammal National Award on
Taxonomy is administered by the
fa) Ministry ol Agriculture and
Farmers Welfare
ikl Ministrv of New and Renswable
Energy
fe) Ministry of Health and Famaly
Welfare

(d] Ministry of Environment, Forest
and Climate Change



¥ o military traipn; follows
¥ training 4 . OWing g
. 3 s
location is ngg e titue g of
ey ¢ Y matchegn
. " 1 . b
qfﬁ;-hﬂ b fal Army War ~ S
B - L-flllr
] . ¢ 1 Mhoy
fb) High Altityge
- I - - H
-y . grBriare Schog) Gulmarg
2k
fe) Army Ajr Diefap .
:’ﬁ Cﬂ]ll_‘gp Sl ]"'llrm
N @] Rashtrivg 1.4
[y T : ] )
¥ Military, College “Ehrarjun
117. Which one of p, follow,
responsible for the rece ll'l.f._! Virlises g
-!'_—_[,II i Gir National g =Nt death of lions
a) Cani b
fa) ne U'lﬂJ-Ernpr_.r Virua
(b} Nipah Virus
| fe} Hendra Virusg
! (d) Foot-and-Mouth Disegse Virus
118. Till 2018, which of the following
countries have legalized the ]:lﬂﬁrj-!::?:%:'u.'-‘-_
and use of recreational eannahis?
1. America
- 2. Canada
3. Nigeria
4. Uruguay
Select the correct answer using the code
given below.
(a 1,2 and 3

(d 1

f.l'ﬁ* Which one the

. 2 and 4

(b) 2 and 4 only

fe) 1 and 4 only

119. Which of the following are the b:nnﬁ'.cu of
the Pradhan Mantri Jan Arogya Yojana

[PMJAY)?

i

Free treatment available at. all
public and empanelled privaie
hospitals in times of need

Cashless and paperless access (o
quality health-care services

Government provides health
insurance cover of up to € 5,00,000
per family per year

Pre-existing diseases arc not

coversad

Select the correct answer using the code
given below.

fa

(b)

fc)

(d)

1 and 3 only

1, 2 and 3

2 and 4 only

2, 3 and 4

120. The 11th BRICS Summit in 2019 will be
hosted by

(@)

(b}

jc)

fct]

China

Russia

Brazil

India




